FAEMAR | B ST e AR E WA -k 2020/9/19 o E [N
B4 SR2EE R EH e AR E RS
e 44 H e 7 e EBER e w4 A ILAR — Y AR e E# S FLER AT AR
[ SNt i
B fF fag 17 pA RYIVA Afr 5{3F 6/5r Tr 8{ir
TR L00m BAR it 13.41 (+0.3)|FBE HF 13.83 (+0.3)|HR Rt 14.06 (+0.3)[iZ)1 1&3t 14.15 (+0.3)|Z 1A 1419 (+0.3)[R# FAKER w14.35 (+2.2)|dh 4t FEA wl447 (R22)|BEXR HE 14.48 (+0.3)
& ] AN  J AEg pNFAS o ZH fEs o AIE e P4
9f 190 500m Z a7 30.05 (-3.0)|3R X PBEX 31.59 (-3.0)|FAK #ltE 31.73 (-3.0)| B&EB FABR 3246 (-3.0)|N#E BX 32,57 (-0.9)| 4B fh# 32.72 (-3.0)|=H {F#& 32.81 (-3.0)|FE&% #i5 32.84 (-3.0)
ZHES ] PIIEEs  J NS ® HNlh pindas AEs Al fEich
9f 190 100m WF X 1:1028|80 #Eth 1:13.07|HF BX 1:14.34)% XEA 1:15.12| 4% s 1:15.19|#AK $#RE 1:1556| RI2 &k 1:16.08| 51t A 1:16.81
&l ] SAIE P ® BN ] BEMES e fEnyfch PN Zilish
9f 190 800m Bl & 2:21.83|FH B 22372\l EM 2:2861|FFa 1&iH 2:33.13)/hith =22 2:35.17| &3 2:43.06| g = 2:4353| R @ Hi 2:47.45
N ENRE e FNRI (] W o KA ® Rl falR o AIEg
919 1500m Bl & 44439\ FFH BB 44711(ILTF EM 4:59.16|fRE KiE 5:08.63|/INith Z=ZE 5:12.81(Fa & 5:17.46|FhiE 3 5:2001|/@ Zz# 5:22.77
N [ ENRE e ® FNRI HNieh () NS [NERS Fa IR o BES
9H 198 — HIE T 433 (H1.A|EX HE w429 (+2.2)| =0 1£#E w4.26 (+2.6)| 54t A 417 (+0.9)| R+ FEAER 4.08 (+1.9)[/htg FEFH 3.89 (+1.5)[:Z)I 1&3t 3.87 (+0.5)[;EHE K& w3.58 (+4.0)
BEF (] R4 ® P& (] EJITES LR A& AREH ks
ot | on 190 L00m W ER 12.09 (+0.9)[3*H K& 12.23 (+0.9)|A 0O 343 12.47 (+0.9)[BIL fFAL 12.50 (+0.9)| B L &% w1255 (+4.5)| K+ ZXK 1258 (+0.9)|5H# EBE 12.92 (+0.9)|sJIl Ki¥ 13.01 (+0.9)
FRIR Ei P& ® AIEg BEs ] A& S A ] ks
9F 190 200m TINS5 w25.49 (+3.0)|K¥ ZK w25.72 (+3.0)|&20 B w26.27 (+3.0)iRE &/ w26.29 (+3.0)|%xFE IRE w26.56 (+4.0)|5H EE w26.88 (+3.0)|BRA 1&—EBER  w29.58 (+4.0)|#k[R 1&4t w29.60 (+4.0)
SR A (] BE ° P& BEs FNEa [ AEg PEL: fEYs R
9F 190 100m st BE 1:00.25| A& H& 1:02.32|BRA f&—ER 1:02.93|#)Il K% 1:04.32; 2K K& 1:04.38| E1L FEF 1:09.34[;5)1l B4 1:1387|iRE R&E 1:18.10
SR A (] fE e ® UL (] ki e {rilbyades) BEs BE®
9H19H goom | BE R 2:1047(HA HERE 22561\1r8 —# 2:2825 I #R 2:28.752%F KiE 2:31.49(aK Hi 2:32.93[= )1 B2 2:33.74|F X 2:34.03
AR GR|#¥H ] FNRg ks ° & ] {rilbyades) ENRE L/NE L]
9F19H 3000m BE W 10:03.01|E 8 BH 10:29.50| 778 —%% 10:4881| /1L R 10:59.83|iZ)Il E&E 11:20.06(frh ZXiE 11:21.68| &Il &2 11:29.34|H/ £ K— 11:48.83
AR [ ) NELSS [ ) FIRE [ J ks BEs ks ENRE e ZHES
oflon | ki |20 P 592 (+05)(3#E KK 574 (1 A|EHE B whil GO0 RE BAEH  wb20 (r23)|MA Mk wbi6 (+43)|EH % wa9s (27| B wa7o 28|49 EH 473 (+15)
FEIR T [ ] P pidas [ ) EJNE BE® [ ] i Pitkes BEkE+ fE ks
T LL0mi 1 B E 20.03 (-3.8)|X#E 2z 20.07 (-3.8)| Bl #2 2042 (-38)|BL #E 20.95 (-3.8)|F/IL & 28.33 (-3.8)| ARH K#E  33.88 (-3.8)|FH F# 1:14.87 (-3.8)
AR [ ) R [ ) ks [ ) BE® BEs NS Al
BEHA 49.71| KR HA 51.77 ;AR A 52.10|FE &R A 53.03|5 Il # 53.16|fE1th 5 54.03|ENEg & 54.03[:& P 54.71
IBE Rt O S E o strE BE o RN ER mEE B o X ILTF B8 KB K
9AI9H | 4x100mR |EE #E BE WR SH BE B K BA B BEAR EBR EH O HEH K&
R BiEE Bl & B g AE B2 ER KE mnAR &5 R B BA thik
A+ BK KT HIAEA B R /M BE MRiE KiE BRI ISR %HE B nno Ez
R BE 140[FN1 & 1.35 (il i 1.30|HH &5 1.30|rp BB 1.25|BRiE KiE 1.25|=W = 1.20
9A 196 i ENm [ KL (=SS [ ] L ] B &N Ags
i #2 1.35
[ap:ides
971190 vk AR ik 11.15 +1.6)|F=H #EH 10.90 (+1.0)[ A F& 9.57 +0.2)[(BEX HHR 9.54 (+1.0)|FEHE A 8.44 (+1.7)
bPiides)  J EJII () L ] iR FaEke
oA 19 R KL $AKEA 11.47|L/R BE 8.85()11O0 EEX 8.20|154 &L 1.82|FE R&E 147|EH #2440 7.15|7E HFE 6.95| Il #EiE 6.80
N  J [ap:ides fEnhch ] Bt AEg ] gk & N
971190 p KiL FAXER 29.23|IL/A BE 27.791I0 #EX 21.85|ISH &t 2049|738 A 1744110 EZE 17.05| AT #EHE 16.22|hfE 3l 15.62
NS R J e A& ) gt ] b piides) & Rl
0190 | v vy san— oF 2 % ) 34.72|%% IREE 30.27|H A HER/ 28.94|)IIO &Z= 2462|EA ER 2452(1LIg HE 21.08| TH K& 20.58|1RE E3} 16.72
3k ENFgh 3k FEim =N BEs BEH Rl
w8 KEEH 9358 HiEd 8348 S 8064 (Bl T8 FIF s 6348 g 514 FEEH 428 HIEH 3908




